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Question Number : 1 Question Id : 7155054132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA={2.3.4} and B = {8. 9, 12}. Then the number of elements in the relation

R = {((a;. by). (3. by)) € (A x B, A x B) : a; divides b, and a, divides b; }is

Options :

71550513071. 12

71550513072. 18

71550513073. 24

71550513074. 36

Question Number : 1 Question Id : 7155054132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
715505253
Yes

null



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OFTA={2,3,4} QUIB={8,9, 12} B | Al §&Y
R = {((a;. by). (a5, by)) € (A x B, A x B) : a;, b, DI [T PH=al § al
a,. by @I FAUISTd @l 8 T Saual & A &:

Options :

71550513071. 12
71550513072. 18
71550513073. 24

71550513074. 36

Question Number : 2 Question Id : 7155054133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i I S 1
Let S = xe(——,—}:{)] E g glar s :i{}} and

% 1 2
= tan” | — |, then — —14) 1sequalto
p=2. [3] (8-14)
Options :

71550513075. §
71550513076. 16
71550513077. 32

71550513078. 64



Question Number : 2 Question Id : 7155054133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS =4 x € (—E,EJ:QHWE X +’9"anE = !'[}1 ayl
32 |
ﬁ:Zliin:(g]%,@é(ﬂ—l4)2W%

Options :

71550513075. 8§
71550513076. 16
71550513077. 32

71550513078. 64

Question Number : 3 Question Id : 7155054134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T
LetS= { Z=XHIY: — SE_ is a real number ;. Then which of the following is NOT correct?

GE+ Ll

Options :

71550513079. x = 0

yE (—w,—l] U[—li
71550513080. _ 2 2

71550513081.



y+x4jﬁi——

(x.)

71550513082. [

b2 | —
e, et

Question Number : 3 Question Id : 7155054134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IH:HS_I"=‘LTH a7 -L‘cp GIESIGEE ng}lﬁ‘[ﬁyﬁaﬁ?mﬂﬁﬂﬁ%’”

Options:

71550513079. x =0

Y E (—w,—L]U(—l.-x;]
71550513080. _ 2 2

|
y+x2+yzi——
71550513081, 4

(['“
71550513082. EJ

Question Number : 4 Question Id : 7155054135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



5F ot T
6! 7! 8!| ,then ‘ad|{adl(2A))‘ is equal to
41 3t o

1
5! 6! 7!

If A=

Options :

71550513083, 227

71550513084, 219

71550513085, 212

71550513086. 2°

Question Number : 4 Question Id : 7155054135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

51 6! 7!
Zﬂ%ﬂ;q. ;'7' & 7 R %_.ﬂ“r|adj{adj(2h})| TR 8
7! 8 9!
Options :
20

71550513083. 27

71550513084, 219

71550513085, 212

71550513086. 2°

Question Number : 5 Question Id : 7155054136 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Eight persons are to be transported from city A to city B in three cars of different
makes. If each car can accommodate at most three persons, then the number of
ways, in which they can be transported, 1s

Options:

71550513087. 560

Ly

71550513088. 1120

71550513089. 1680

71550513090. 3360

Question Number : 5 Question Id : 7155054136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i Sufgl 1 9 PRI F 3116 Al B TgX AY WX B A W1 81 TS
u—caaam%ﬁ MfSmad T afdd 96 I&d 8. dl 571 Afgadl B o ofH & diid|
GG

Options:

L
o
o]

71550513087.

71550513088. 1120

71550513089. 1680

71550513090. 3360



Question Number : 6 Question Id : 7155054137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the coefficients of x and x? in (1 + x)? (1 —x)? are 4 and —5 respectively. then
2p + 3q 15 equal to

Options :
71550513091. 60
71550513092. 63

71550513093. 66

71550513094. 69

Question Number : 6 Question Id : 7155054137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(1+x)P (1 -x)2 T x TUT 2 P I[UND HH: 4 Y15 . Al 2p + 3q X ©
Options :

71550513091. 60

71550513092. 63

71550513093. 66

71550513094. 69

Question Number : 7 Question Id : 7155054138 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the number (22)29%2 + (2022)%? leave the remainder o when divided by 3 and p

when divided by 7. Then (o + B?) is equal to
Options :

71550513095. 3
71550513096. 10
71550513097. 13

71550513098. 20

Question Number : 7 Question Id : 7155054138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT (22)2922 + (2022)22 &f 3 T fGUIford 37 TR AY9Hd o © YT 7 9 favifoa
B R ATHA 5l (o2 + p) W &

Options :
71550513095. 3
71550513096. 10

71550513097. 13

71550513098. 20

Question Number : 8 Question Id : 7155054139 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If S,=4+11+21+34+50+ .. tonterms, than(Sm - Sq) 15 equal to
60" -

Options :

71550513099. 220
71550513100. 223
71550513101. 226

71550513102. 227

Question Number : 8 Question Id : 7155054139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfg s, =4+11+21+34+ 51:1—...1113@%%,#[%(5“, —8, ) SRR E
-0 \72

Options:

71550513099. 220
71550513100. 223
71550513101. 226

71550513102. 227

Question Number : 9 Question Id : 7155054140 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Letg(x)=f(x)+f(1-x)and f "(x)=0,x€ (0.1). If g 1s decreasing in the interval (0, o) and increasing in the

. ~ ne qfatl)
interval (c, 1), then fan (2a)+Ian — [+tan | —— | isequalto

o a

Options:

71550513103. 4

37
71550513104, 2

3
71550513105. 4

71550513106. =@

Question Number : 9 Question Id : 7155054140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFT o) =f () + (1 —x) TUTF" (x) = 0, x € (0,1) B 1 TS g 3R (0, o) H
BIIH § OUT 3iaRTd (o, 1) H 38T B, ol

tan™ (2 )+ tan™ é] +tan™ QTH TR T

Options :

71550513103. 4

3
71550513104, 2




3
71550513105. 4

71550513106. &

Question Number : 10 Question Id : 7155054141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B . i 5 \2r & 2y £  Ax 14 \Iu;:l'.-.'
Fora,f.p, 8 € N, if ‘H (—J +[—} log, x dx --:—[—J ——(—J +C
\\e X

a\ e YAX

= 1
. where € = Z — and C 1s constant of integration, then o + 2p + 3y — 46 1s equal
= n!
to

Options:

71550513107. -8
71550513108. —4
71550513109. 1

71550513110. 4

Question Number : 10 Question Id : 7155054141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i {r * xlll'l' 5 x i -,Ijil' I r T ax ’
ﬁ.-ﬁ.-?st'Ef‘ﬁ% quqa-ﬂ = +(—] log, x dx——['—J ——‘—] +C %:
|I\ e/

k; X a\e. ¥\ X

g

5 1
Wele= Z —'HMCWW%,#TU—EBH;—%W%
o n!



Options :

71550513107. -8
71550513108. —4
71550513109. 1

71550513110. 4

Question Number : 11 Question Id : 7155054142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I'I
Let f be a continuous function satisfying .[ [ ‘f(‘) 2 ) dx = i,r?'ﬁﬁgf; > () Then
' 3

1

g ﬁz :
f| — |is equal to
Options :
( HJJ
- 14—
71550513111, \ 16

"%
71550513114, \



Question Number : 11 Question Id : 7155054142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2
: f & 2 | T
071 £ T Hdd L-PQH%H?HI[;‘(I)+_\;~)({r:i;3$@';}{]%|ﬂ§f]‘ S
Al 3 4
WE
Options :
( ;r?-“‘
o E+—J
71550513111, » 16
2 —"TIJ
x| l=-—
71550513112, . 16

11'3
—| 14—
16
71550513113.

71550513114, “{'J

Question Number : 12 Question Id : 7155054143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A be the point (1, 2) and B be any point on the curve x> + 37 = 16. If the centre
of the locus of the point P. which divides the line segment AB in the ratio 3:2 is the
point C (o, B). then the length of the line segment AC 15

Options :



71550513115, 3

71550513116.

71550513117.

71550513118, 9

Question Number : 12 Question Id : 7155054143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A TG (1,2) STUTTD «2 + 17 = 16 R DI (6 B T | TG TG S AB B
3:2 % 391 I faurford #37 ardl fdg p & fdguy @19 ¢ (o, p) T, T XTES
ACHITas &

Options :
3J5
71550513115. 3
2.5
71550513116, 2
45

71550513117. 3

71550513118.



-

65

N

Question Number : 13 Question Id : 7155054144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a circle of radius 4 be concentric to the ellipse 15x2 + 19y% = 285. Then the
common tangents are inclined to the minor axis of the ellipse at the angle

Options:

b
71550513119. 3

| =

71550513120. 4

T
71550513121. 6

T
71550513122. 12

Question Number : 13 Question Id : 7155054144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT (ST 4 1 U Gl 1 STHaT 15:2 + 19)2 = 285 b5l &1 ol S-S W
3T ST & Y 348 T B AT IO G 2

Options :

T
71550513119. 3



IS

71550513120. 4

T
71550513121. 6

T
71550513122. 12

Question Number : 14 Question Id : 7155054145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the image of the point P(1. 2. 6) in the plane passing through the points
A(1,2,0),B(1,4,1)and C (0, 5, 1) be Q (c, P, ). Then (o + B>+ 1°) is equal to

Options:

71550513123. 62
71550513124. 65
71550513125. 70

71550513126. 76

Question Number : 14 Question Id : 7155054145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o fdg3if A (1,2, 0), B (1. 4. 1) QU C (0, 5, 1) F I o alel guda 4 foig
P(1, 2, 6) T UCMEE Q (o, B, y) B 1 Tl (o2 + p2 + ) TWER &:




Options :

71550513123. 62
71550513124, 65
71550513125. 70

71550513126. 76

Question Number : 15 Question Id : 7155054146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. x 6-y z+ . . X— r— z+2
Let the line — = J = 8 intersect the lines x5 o2 7 BT and
1 2 5 4 3 |

x+3 3-y z- 1 ; ; : .
: = e g 3“ = 1 6 at the points A and B respectively. Then the distance of the

mid-point of the line segment AB from the plane 2x — 2y +z=141s

Options :

10
71550513127. 3

11
71550513128. 3

71550513129. 4

71550513130. 3

Question Number : 15 Question Id : 7155054146 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g X087V _ 248 xS o7 _z+24y

1 2 5 4 3 1
.*.;3:3;}'::Iﬁﬁm:ﬁgéﬁAﬁwaw%lfﬁWH$
ge fofg B gHae 2x - 2y + 2 =14 T 8

Options:

10
71550513127. 3

11
71550513128. 3

71550513129. 4

71550513130. 3

Question Number : 16 Question Id : 7155054147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Letg=2i+7j—k,b =30 +5kand @ = — ]+ 2k Let g be avector
which 1s perpendicular to both y and p. and ¢. d =12 . Then

(_f+_}—£)-{c*x d} is equal to
Options:

71550513131. 24
71550513132. 42

71550513133. 44



71550513134. 48

Question Number : 16 Question Id : 7155054147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G =2 +7]—k,b =30 + 5k QUG = j — J 4 2/ T T WIS o
p P T8ad TP W& R AU ¢.d =128 (- +j-k)-(cx d) ReRE:
Options :

71550513131. 24
71550513132. 42
71550513133. 44

71550513134, 48

Question Number : 17 Question Id : 7155054148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the points P and Q are respectively the circumeenter and the orthocentre of a AABC, then pA + pg + pC 18
equal to

Options :
71550513135, 2QP

71550513136. QP

71550513137, PQ



71550513138, 2PQ

Question Number : 17 Question Id : 7155054148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe T FAYS ABC & URS= qUl ded=: hHT: PAUTQ R, T pA + PB + PC
IR

Options :

71550513135, 2QP
71550513136, QP
71550513137, PQ

71550513138, 2PQ

Question Number : 18 Question Id : 7155054149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let a die be rolled n times. Let the probability of getting odd numbers seven times be equal to the probability

of getting odd numbers nine times. If the probability of getting even numbers twice is then k is equal to.

213'
Options :

71550513139. 15



71550513140. 30
71550513141. 60

71550513142. 90

Question Number : 18 Question Id : 7155054149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TS U1 &1 5 §R Bl oidl ¢ | I 97d §R faws Tem urd e &t
WL, 7 aR fGus T urd & &t Uiiieal & eve ol Ofc &l aR 99

T3] U B3 D WiidHdl fi g, kR &
2 -

Options :

71550513139. 15

71550513140. 30

71550513141. 60

71550513142. 90

Question Number : 19 Question Id : 7155054150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let p be the mean and (7 be the standard deviation of the distribution

% 0 1 2 3 4 5

il k+2 [ x| K2-1 K1 k<1 k-3

where Z ); = 62 . If [x] denotes the greatest integer < x, then [;13 + cr:] 15 equal
to
Options :

71550513143. 6

|

71550513144.

71550513145, §

71550513146. 9

Question Number : 19 Question Id : 7155054150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BIBIEGE]
X 0 1 2 3 4 5
£ | k¥2 | 2 k-1 -1 k21 k=3

el Z;; — 62 B, BT u T AFS fa9e o & afa [x] T609 I0d <x
a a’T[;:—#ﬁ]w%’:

Options :
71550513143. 6

71550513144, 7

71550513145. 8



71550513146. 9

Question Number : 20 Question Id : 7155054151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statement ~[ p VvV ( ~ ( p A g ))] is equivalent to

Options:

71550513147, (~(pAg)) N g

71550513148. ~ (P V g )

71550513149, (P A g ) A(~p)

71550513150, ~ (P A G )

Question Number : 20 Question Id : 7155054151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P ~[pv(~(prg)]fFEETEE?

Options :
71550513147, (~(pAg)) N g

71550513148. ~ (P V ¢q)

71550513149, (P A g ) A(~Pp)



71550513150. ~ (P A g

Mathematics Section B

Section Id : 715505254
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505254
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155054152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yo b
If the domain of the function £ (x)=sec '[ "". is[o,p)U(y,0]. then ‘3(14'!0['[31"1{}‘*216‘ is equal to
v+

R J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 21 Question Id : 7155054152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

afd BE £ (x) = sec '[Sf;]arcr‘m[u,ﬁm{ v, 818,

B+ 10(B+y)+218) IR ®

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054153 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of values of /. for which the system of equations
6)x — 3y + 3z= 432,

2x+6ly+4z=1,

3x + 2y + 34z = A has no solution. Then l ZZ

AeS

A

1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 22 Question Id : 7155054153 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
. & 1], oFe fou gdtawu Far

6ix — 3y + 3z =44,
2x + 6y +4z=

3+ 2y+ 3= A PR EATE S PregeEs T 12)
AES

A

WERE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054154 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of all the four-digit numbers that can be formed using all the digits 2, 1,
2, 3 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054154 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Tuft 3 2, 1,2, 3 & WA T 4 3] DI §15 ol G- aret Gt Tamraii &1 am
e:

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054155 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Suppose ay, d,. 2, a3, a, be in an arithmetico-geometric progression. If the common ratio of the
corresponding geometric progression is 2 and the sum of all 5 terms of the arithmetico-geometric progression

18 = then ay 1s equal to

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054155 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ml a,, a,. 2, as, ay U GHIAR-TUMTR 907 § 1 IS H71d TUITR 407 &1 9
39T 2 § 9UT FHIR-TUIR 407 & 9t 5 gl &1 g ‘:—g% dl ay NRER 6:

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the quadratic curve passing through the point (-1, 0) and touching the line
y=xat (1, 1) be y =f(x). Then the x-intercept of the normal to the curve at the
point (0. o + 1) in the first quadrant 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O {dg (—1, 0) U BIPR O aTdll 9UT X@l y = x DI (1, 1) TR TR B arell
%ﬂﬁmg% =£(x) 81 O WY IquiR & 45 (0, o+ 1) R AP & YT P x-
Hd:G S b

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 26 Question Id : 7155054157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the arca of the region {(x, y) : /@ = 2| <y <x}is A, then 6A +16+/2 isequalto .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

afg & {6 I? — 2=y =x} Pl EHE‘IWA%, | 6A +16+2 W%:
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054158 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the tangent at any point P on a curve passing through the points (1, 1)
i b

and | ]lﬂ ,100 J_. intersect positive x- axis and y-axis at the points A and B
L

respectively. If PA : PB = 1: k and y = y (x) 1s the solution of the differential

dy :

equation od¥ — fry + i_. y(0) = k. then 43(1) — 5log_3 1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054158 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A g (1, 1) T |- 100 | & EIhR S AIQ) U agb b fepl g p R el
T YD x - YT y - SH&fl DI HUTT: fdgsii A TUTB W H1edl g

dy :
GG PA : PB = 1: k § YT 3fdhd GHISRUl ,dv — ;;,Hi. v(0) = k BT 8
2

v = v(x) %’ Sl 4y(1) — Slog.3 @RI€Y %:
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054159 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let the equations of two adjacent sides of a parallelogram ABCD be
2x — 3y =-23 and 5x + 4y = 23. If the equation of its one diagonal AC iz

3x + 7y = 23 and the distance of A from the other diagonal is d, then 50 d? is equal
to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054159 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O] U HHIR Iq4el B &l Jad Yolr3f &
THIEROT 2x — 3y = —23 TUT 5x + 4y =23 B | TS 59P UP (A0 AC T
IR 3x + Ty = 23  AUT A DI gL [dB Ui A g d . 71 50 &> R &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054160 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the foot of perpendicular from the point A (4,3, 1) onthe plane P:x—y + 22+ 3=0be N. If

B(5. o, ), 0. p € Z is a point on plane P such that the area of the triangle ABN is 3,7 . then o® + p>+ of is
equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054160 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHIfdg A (4,3, NI IATAP :x—p + 22 + 3 =0 R SA M AT HI UGN 5|
gf¢ 9qda P R US [d4g B(5, o, B), 0, p € Z 39 UBR © [ YT ABN &I
AP 37 ©. I o + p2+ of TR ©:

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T
In the figure, 61 + 6, = Y and /3 (BE) = 4(AB). If the arca of ACAB is 2\/5_3

6,
unit?, when 5 1s the largest, then the perimeter (in unit) of ACED is equal to
1

E
[§ 2
C Cp
u o
A B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1S STpfc H e —ag=gaﬁ.ﬂﬁ(BE)=4(AB}%IUEE&CAB${Eﬂarw

2.3 3T SPIL 8, g % HfYHdH B, I ACED BT IRHY (FHTS H) TRIR
1
%

E
B~
o2 (b
u By
A B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Section Id : 715505255
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Section type: Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and
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Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 715505255
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155054162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The distance between two plates of a capacitor 1s d and its capacitance 1s Cy, when
a8 1 : : 2d

atr 1s the medium between the plates. If a metal sheet of thickness = and of the

same area as plate is introduced between the plates, the capacitance of the

capacitor becomes C,. The ratio (T 18
"1

Options :

71550513161. 1:1
71550513162. 2:1
71550513163. 3:1

71550513164. 4:1

Question Number : 31 Question Id : 7155054162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HYIA Bl wiel & di9 ot gl a 7, Td 5@ ufed! & &fd & A1 aig & ol 391
skl ¢ B afe Wel & guH &a%d ud ? HieTs Tt U enfae Iet

S 3 et & i el o 2, < Serh 1 ek ¢, 8 ot 81 S
C, s

a%.

Options :

71550513161. 1:1
71550513162. 2:1
71550513163. 3:1

71550513164. 4:1

Question Number : 32 Question Id : 7155054163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a periodic motion represented by the equation
y = sin @t + cos wt

the amplitude of the motion 1s

Options :

71550513165. 0.5

71550513166. 1

71550513167. v2

71550513168. 2



Question Number : 32 Question Id : 7155054163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U ATqil T, GHIBRUT y = sin ot + cos et R 21U g | TTd &1 3G 6:
Options :

71550513165. 0.5

71550513166. 1

71550513167. ~/2

71550513168. 2

Question Number : 33 Question Id : 7155054164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A gas mixture consists of 2 moles of oxygen and 4 moles of neon at temperature T.
Neglecting all vibrational modes, the total internal energy of the system will be,

Options :
71550513169. 4RT
71550513170. SRT

71550513171. 11RT

71550513172, 16RT

Question Number : 33 Question Id : 7155054164 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T A19HH R ot TRt farsyor 3 2 Al SafTsi Ud 4 A (30 €1 et o
o1S1 &1 100 OFA |, e &t $d sHidike el gl

Options :

71550513169. 4RT

71550513170. SRT

71550513171. 11RT

71550513172, 16RT

Question Number : 34 Question Id : 7155054165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gas 1s compressed adiabatically, which one of the following statement 1s NOT
true.

Options :

71550513173, The temperature of the gas increases.

71550513174, The change in the internal energy is equal to the work done on the gas.

71550513175, There is no change in the internal energy

71550513176, Lhere is no heat supplied to the system

Question Number : 34 Question Id : 7155054165 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@ﬁﬂﬁmmﬁwﬁﬁﬁmw%lﬁamﬁﬁ@ﬁwm

Options :

71550513173, 719 @1 dI9HH &l g |

71550513174, NS Gl H g1 IRac, 79 | §T P & SRR ¢

71550513175, AR GHuil H Plg URad 76l 6Idl o

71550513176, M1 B DIg HWHI el &1 Wl 5

Question Number : 35 Question Id : 7155054166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Young's moduli of the material of wires A and B are in the ratio of 1:4, while its
area of cross sections are in the ratio of 1:3. If the same amount of load 1s applied
to both the wires, the amount of elongation produced in the wires A and B will be
in the ratio of

[Assume length of wires A and B are same]
Options :

71550513177. 1:12

71550513178. 1:36

71550513179. 12:1

71550513180. 36:1



Question Number : 35 Question Id : 7155054166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dR AUG B & g4 & G [0 BT SIUM 1:4 5, TElP 3P Gl
&FABT! BT U 1:3 51 Tl &F1 dRI IR 0 HR deh ™l oldl 8, dl IR A
Ud B § §U YHRI &1 3HUIG 81 [HH dR A UG B B qHalzd] 991 o:

Options :

71550513177. 1:12

71550513178. 1:36

71550513179. 12:1

71550513180. 36:1

Question Number : 36 Question Id : 7155054167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Rotation of the earth shows effect on the value of acceleration due to
gravity (g)

Statement II : The effect of rotation of the earth on the value of 'g’ at the equator
is minimum and that at the pole 1s maximum.

In the light of the above statements, choose the correct answer from the options
given below

Options :

71550513181. Both Statement I and Statement II are true



71550513182. Both Statement [ and Statement II are false
71550513183. Statement I 1s true but statement IT 1s false

71550513184. Statement I 15 false but statement IT 1s true

Question Number : 36 Question Id : 7155054167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

®Y 1 : J2dl P YU BT YHTG THlg @Rl (g) & TH R ISl 8

®YFI1 : '¢’ S T R Gl & guiF BT JuTd, Y 861 IR Y04 Ud 4d IR
HitBad gidl o
Sudad Al & dg 1, i fu e faeedl & 4 gaiide suged 3w 9

Options :

71550513181, PUT1Td HUA I GHI T 5 |

71550513182, PYUT 1T BUF I &I SHT 5 |

71550513183, PUT 1 U € TReg DY 11 3T €|

71550513184, PUT 1 38 8 TR DU 1 I &

Question Number : 37 Question Id : 7155054168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The time period of a satellite, revolving above earth's surface at a height equal to R will be
(Given g =" m/s”, R = raduus of carth)
Options:

71550513185. v 2R
71550513186. V4R

71550513187. V&R

71550513188. v32R

Question Number : 37 Question Id : 7155054168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g2dl & ad o R $dlg UR, UREHHUI B I8 SUUS & Hatidld sl
(?T[%:_. g= 7t m/s?, R=qiﬁﬁ§§|a@ﬂ

Options :

71550513185. v 2R

71550513186. V4R

71550513187. v8R

71550513188, V32R

Question Number : 38 Question Id : 7155054169 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two projectiles are projected at 30° and 60° with the horizontal with the same
speed. The ratio of the maximum height attained by the two projectiles
respectively 1s:

Options:

71550513189. 1:3

71550513190. 1:4/3

¥

71550513191, 2:v3

71550513192, V3 1

Question Number : 38 Question Id : 7155054169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&S T 30° UG 60° & DIV TR & W& IHH Tral 9 Waftd foou od €1
DU HTl GRI U U dH Sargdl o SUrd o:

Options:

71550513189. 1:3

71550513190, 1:4/3

N

71550513191, 2:v3

71550513192, V3 1



Question Number : 39 Question Id : 7155054170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an experiment with vernier calipers of least count 0.1 mm, when two jaws are
joined together the zero of vernier scale lies right to the zero of the main scale and
6th division of vernier scale coincides with the main scale division. While
measuring the diameter of a spherical bob, the zero of vernier scale lies in between

.2 cm and 3.3 cm marks, and 4th division of vernier scale coincides with the main
scale division. The diameter of bob 18 measured as

Options :

71550513193. 3.26 cm
71550513194. 3.25 cm
71550513195. 3.22 cm

71550513196. 3.18 cm

Question Number : 39 Question Id : 7155054170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.1 mm FITHIE aTd GHIR BTy & W H, 7d g1 olds oo ¢ al aHas
UHT 1 Y. §& UHH & - & alle-! 3R I8l & dY1 IR UHH Bl el
[aUToH, T& UHH & 1Y JHTcil 81T & | U Tici $I odT9 J19d 999, a-aR
T &1 Y 3.2 om TG 3.3 em F A9 351 §, T4 aFHER 9HH BT 1T fauTem,
@] UHM & FHITdl Sidl & | 71T a1 H1UT 711 31 g

Options :

71550513193. 3.26 cm

71550513194, 3.25 cm

71550513195. 3.22 cm



71550513196. 3.18 cm

Question Number : 40 Question Id : 7155054171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A person travels x distance with velocity v{ and then x distance with veloeity v, in

the same direction. The average velocity of the person is v, then the relation
between v, v; and v, will be.

Options :
\’J <+ YV,
v=—"t 2
71550513197. 2
71550513198, ¥ — V1 T V2

1 1

71550513199. ¥ Y1V

2 1 I
=

71550513200. ¥ V1 V2

Question Number : 40 Question Id : 7155054171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P15 odfad U of =M x G v, 3T 4 TA x & v, 37 7 Hxall & | oafad &1
I AT v 8, dl v, v, Ud v, P did TGy BITI:

Options :




vV, +V,
y=—"12
71550513197. 2

71550513198, Y — V1 T V2

| .

71550513199, ¥ Vi V;

2 1 I

71550513200. ¥ Y1 V2

Question Number : 41 Question Id : 7155054172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : An electric fan continues to rotate for some time after the current 1s
switched off.

Reason R : Fan continues to rotate due to inertia of motion.

In the light of above statements, choose the most appropriate answer from the
options given below.

Options :

71550513201, Both A and R are correct and R 1s the correct explanation of A

71550513202, Both A and R are correct but R 1s NOT the correct explanation of A

71550513203. A 1s correct but R 1s not correct

71550513204. A is not correct but R 1s correct



Question Number : 41 Question Id : 7155054172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
- &1 Py ST TTU B, U P! STUHYT A Ud GIR & SRR FEl I ¢ |

#@Wa:%ﬁ%ﬁﬁﬁ%@ﬁlﬁﬁwﬁ@@wwm
{/AT

SRR : TET T & WScd & RO YHA] ORI I@dT 5 |
e S| & HBTRI H, A U T fdeedl J 9 951 IR IH:

Options :

21550513201, A U4 R &1 T8I § 9UT A & TSI TRATR §

71550513202, A U4 R &IFI Tel § a4l A ] Fo! ARATR 61 §

71550513203, A TGI8 TG R TAA §

71550513204, ATTAA S IR T ©

Question Number : 42 Question Id : 7155054173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A message signal of frequency 3kHz is used to modulate a carrier signal of
frequency 1.5 MHz. The bandwidth of the amplitude modulated wave 1s

Options:

71550513205. 6 MHz



71550513206. 3 MHz
71550513207. 3 kHz

71550513208. 6 kHz

Question Number : 42 Question Id : 7155054173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3kHz 31gF dTel S Ret &1 W1, 1.5 MHz 31gRi dTel aigs Rd &1
Higierd o=+ & [T forar o7 § | SIaTE Jigld ol &1, dsfdy (@ W) ©:

Options :

71550513205. 6 MHz
71550513206. 3 MHz
71550513207. 3 kHz

71550513208. 6 kHz

Question Number : 43 Question Id : 7155054174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If each diode has a forward bias resistance of 25 Q in the below circuit.

D]
> AAW
4 p, 1250
et AN
3y D, 12502
—— AN
I A, 1250
II Wﬂsz
5V -

which of the following options 1s correct:
Options:
I
=]

715505132009. 12

= —
el

[
I

=

71550513210. "3

L
14

71550513211.

|Il—4
-2

=
ed

71550513212.

Question Number : 43 Question Id : 7155054174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



4 feu o ufvoy 8, ofe vades sare o1 spifef¥a ey ufari 25 o §

D]
> AW
Iy D, 1250
> AN
I3 D 12502
>— AN
P 1250
II AN
EI
5 250
dfuddsrwfieaudl e
Options :
I
et 2oy
71550513209, 12
L,
71550513210, 13
-
71550513211, L4
5
71550513212, 12

Question Number : 44 Question Id : 7155054175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The half life of a radioactive substance is T. The time taken, for disintegrating Z th part of its original mass

will be:
Options:



71550513213. T
71550513214, 2T
71550513215, 3T

71550513216. 8T

Question Number : 44 Question Id : 7155054175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot Yanifaea ver @1 orefy T 81 559 arifds sounH & %m YR
faufed g H & 999 8-

Options :

71550513213. T

71550513214. 2T

71550513215. 3T

71550513216. 8T

Question Number : 45 Question Id : 7155054176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The variation of stopping potential (V) as a function of the frequency (v) of the incident light for a metal 15

shown 1n figure. The work function of the surface 1s

Stopping Potential (Vo) volt

(210" Hz)
Options :

71550513217. 1.36 eV
71550513218. 2.98 eV
71550513219. 2.07 eV

71550513220. 18.6 eV

Question Number : 45 Question Id : 7155054176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fepfl ¢1q @ feru, Simufdd Ut &1 Siqii (v) & WeH & ¥U H FRId fdva (v)
&1 URad o 1 yaikid 1 U1d &1 1 e o

fad
L
L

frrsh fava (Vo) diee

Options:

71550513217. 1.36 eV

71550513218. 2.98 eV

71550513219, 2.07 eV

71550513220. 18.6 eV

Question Number : 46 Question Id : 7155054177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A bar magnet 1s released from rest along the axis of a very long vertical copper
tube. After some time the magnet will

Options :
71550513221, move down with an acceleration equal to g
71550513222, move down with an acceleration greater than g

71550513223, move down with almost constant speed

71550513224. oscillate inside the tube



Question Number : 46 Question Id : 7155054177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep<il Sga il SaleR did B d I 39D 348 & MG, TP B9 TP Bl
[ERTH 3fa=T I BIST Ol ¢ | $© 99 98, TP

Options :

71550513221, & P HIM & SRI6R @0l 9§ A= Rt

71550513222, & 9 SAT&1 @Rur F A et

71550513223, TTHIT 2R =@ 9 A= F1af

71550513224, TG & 3G GIa Bl

Question Number : 47 Question Id : 7155054178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ratio of intensities at two points P and Q on the screen in a Young's double slit
experiment where phase difference between two waves of same amplitude are /3
and /2, respectively are

Options:
71550513225. 3:2

71550513226. 2:3

71550513227. 1:3



71550513228. 3:1

Question Number : 47 Question Id : 7155054178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

47 & fefeR! WanT § ug R &l fdgsii p Ud Q, Siel 99 S aTdl &l awill &
9] B SR A /3 T4 12 §, W AIgaisi &1 S 3

Options :

71550513225. 3:2

71550513226. 2:3

71550513227. 1:3

71550513228. 3:1

Question Number : 48 Question Id : 7155054179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The amplitude of magnetic field in an electromagnetic wave propagating along y-

axis is 6.0x107" T. The maximum value of electric field in the electromagnetic
wave 1s

Options :
71550513229, 6.0x107 Vm™?

71550513230. 180 V!

71550513231, 2x101° Vm'1



71550513232, 5%101F Vm!

Question Number : 48 Question Id : 7155054179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

y-3H&l & SR Id @] U degaaadhig il & Jrae Y & Bl
3T 6.0¢107 T B IguaEes I o & FAiRd ieyd &3 @1 sifvedn uH

Options:

71550513229, 6.0%107 Vm™?

71550513230. 180 V'

71550513231, 2x101° Vm!

71550513232, 5%101 Vm!

Question Number : 49 Question Id : 7155054180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : For diamagnetic substance, -1 < y <0, where X is the magnetic
susceptibility.

Statement IT : Diamagnetic substances when placed in an external magnetic field,
tend to move from stronger to weaker part of the field.

In the light of the above statements, choose the correct answer from the options
given below

Options :



71550513233. Both Statement [ and Statement I are true
71550513234, Both Statement I and Statement IT are False
71550513235. Statement I 15 correct but Statement II 1 false

71550513236. Statement I 15 incorrect but Statement IT 1s true.

Question Number : 49 Question Id : 7155054180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HYF 1 : Wi uarf & [, -1 < x <0, 96l y T=D1g UgRi 3l

SUF 11 : U 19 I3ml @l g aTel ra 1Y & § @1 Sl § ol 98 &3 8
34 digar ard = 9 8 digdl aid RIH &1 3R 9 &1 00d $3d 6 |

Sugdd U & T |, A= feu 7 fawedr & 3 Haiftre Suged 3w 94

Options :

71550513233, PUA 1T BUA I &H G G |

71550513234, YA 1T HUF I &Ml 3HT 3 |

71550513235, PUT 1 9 & TRed DU 11 A &

71550513236, PU 1 3 € TR U7 1 A T

Question Number : 50 Question Id : 7155054181 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T metallc conductor, under the effeet of apphied eleerc fiel, the free lectrons ofthe conductor
Options :

71550513237, drift from higher potential to lower potential.
71550513238, move in the straight line paths in the same direction

move with the uniform velocity throughout from lower potential to higher
71550513239, potential

71550513240, move in the curved paths from lower potential to higher potential

Question Number : 50 Question Id : 7155054181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
R fagygd &7 1 9 yifd® drds H, 916 & o Sadgi-:

Options :

71550513237, 3@ [a4d 9 A9 faYd &l IRE 3¥aed s o
71550513238. oo 6 ﬁHQﬂWﬂq‘lﬁWﬂﬂﬁ%I

1550513239, THUI 7T & SR T 71 9§ 4 e 3 3= fqua 1 @R of1d 3 |

21550513240 a1 T & gR1 g fava I 3= fdya & RE 9d B



Physics Section B

Section Id : 715505256
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505256
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 7155054182 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A rectangular block of mass 5 kg attached to a horizontal spiral spring executes
simple harmonic motion of amplitude 1 m and time period 3.14 s. The maximum
force exerted by spring on block 1s N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 51 Question Id : 7155054182 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 ke SOOUM &1 U HATATHR T[ca], fard! &fcsl B & RRIATSH 1 m
S{TATH Ud 3.14 s STdcplel o Y I G TMid P2 61 ol B gRITTeS R
IRIMT Af¥Has §d 1 aH N &I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054183 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure below shows a liquid being pushed out of the tube by a piston having area of cross section 2.0 cm?. The

area of cross section at the outlet is 10 mm?. If the piston is pushed at a speed of 4 cm 571, the speed of

outgoing fluid 1s ems’!

M ™

JH----m- v

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 52 Question Id : 7155054183 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR feumu A H, 2.0 em? PIC &P dId U gRI Tl 9 9igr Dl
R Goball ofl ¥61 %d UaiRId 8| o™ 08 & 3% BIe o1 §%d 10

mm? B TE TUTA B 4 om ! BT I70 S hal 91dl 5, A1 IT62 Hdd 18 &d Bi
did cms"lfﬁjﬂl

MR- =

) g ——————r —=r

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054184 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

M
A force of —P k acts on the origin of the coordinate system. The torque about the
[ 2 " . N K
point (2, -3) is P[ ai + bj )_. The ratio of — is - The value of x is -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 53 Question Id : 7155054184 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

e yorelt & qafeg W -P k 90 3R 1 6 (2, -3) & aRa: samgef
P[ahbj)%lﬁfﬂﬁgﬁﬂﬂgélxaﬂﬂﬂ 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054185 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the maximum load carried by an elevator 1s 1400 kg (600 kg - Passengers + 800
kg - elevator), which is moving up with a uniform speed of 3 m s”land the
frictional force acting on it 1s 2000 N, then the maximum power used by the motor
is kW (g =10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054185 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g fordl fode gRT IS/ 41 T9HaH HR 1400 ke (600 kg : 1T + 800 kg -
) B NP 3m s B IHTHH A I FW P RE 1@l ol TG THR
BT IYUT JTe BT H19 2000 N 8, ol HIeR §RT W Sfedad e

kW E (2= 10 m/s?)|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054186 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An electron revolves around an infinite cylindrical wire having uniform linear charge density 2410 Cm! in
circular path under the influence of attractive electrostatic field as shown in the figure. The velocity of electron
with which it 15 revolving is %109 m 5”1, Given mass of electron = 9x10-3'kg

D

=)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 55 Question Id : 7155054186 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e id Wi fdegd &9 & 3f7d U saaci+ 3= aHlg dld SaHIPR
R & IR R PR 9Y TR YRHHU R 6T 5, IR R THIHH 381G SH1a
9 2+1078 ¢ ! €1 ST B a71, Forad 4 uRepH0 SR 381§ a8

<106 m 5 B1 (f1 8. Sage &1 S0 = 9x1073kg) |

Yy
et

S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 917 A be the lowest wavelength of Lyman series then the lowest wavelength of

a

Balmer series will be A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 56 Question Id : 7155054187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe s d Aot &t gaE Reuf 017 A B o e At Y e awe e

A BT

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A pomnt object, '0' 15 placed in front of two thin symmetrical coaxial convex lenses L and L, with focal length

24 cm and 9 cm respectively. The distance between two lenses 1s 10 ¢m and the object 15 placed 6 cm away
from lens L as shown in the figure. The distance between the object and the image formed by the system of

two lenses 1s om.
L, L,
!
0]
& 6cm
10 cm

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BTN 24 cm Ud 9 om PBIHY g1 dldl &l Yl SHT He-3f&fia Iad o],

L, 3R L, & I U fg 9% '0' 3GI &1 &1 o<l & &l &1 gul 10 cm &, Ud
&L, U6 cm B A W I T | S ol & Mpm gRI 9 Uidfers Td o &
ﬁﬁﬁ@ cm%’[

Li L

=

&

O
< 6 cm

10 cm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054189 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A square loop of side 2.0 cm 15 placed mside a long solenoid that has 50 turns per centimetre and carries a
sinusoidally varying current of amplitude 2.5A and angular frequency 700 rad s°!. The central axes of the loop

and solenoid coincide. The amplitude of the emf induced in the loop is x x 107 V. The value of x s

(Take, 1= gi
i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054189 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.0 cm Y1 9T U Qi1 R ORI, [t ia etHiex 50 BRI arell gieifed 3
31 3, forad 2.5A 31U dTell U SATash g 1R1 700 rad s &1 HIVIY 3 &
1Y YaTfed 81 381 3| ¥R U9 URATa®] & b5 igf Ay §1 9% URd gu
faqgd d16% 96 &1 MM x x 10 VRl x BIAH gl

@r, x=22)
7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054190 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A straight wire carrying a current of 14 A is bent into a semicircular arc of radius 2.2 em as shown in the
figure. The magnetic field produced by the current at the centre (O) of the arc. 15 <1077

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054190 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS TG dR 59T 14 A Pl YRIHalled 81 W1 6, DI AISHR [HAMER 2.2
cm T2 GTE (GG 1Y G411 7T § | ¢RT §RT 919 & &% (0) IR 37

DY & 10T B

O

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 60 Question Id : 7155054191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A rectangular parallelopiped is measured as 1 em = 1 em x 100 em. If its specific

resistance is 3x107'Q m, then the resistance between its two opposite rectangular
faces will be %1077 L.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054191 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% MAATHR TJHIR TeHAD DI 1 emx1 em <100 em AT S1d ¢ | TS 591
fafeTy UfoRiY 3x107Q m B 1 S9% &l fAuid SMUIeR Ba®| & &4 @I
SIRRIL] 1077 Q BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Chemistry Section A

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 61 Question Id : 7155054192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

715505257
5

Online
Mandatory
20

20

80

Yes

0

1
715505257
Yes

null

LISTI LIST II
A |16 g of CH, (2) I. [Weighs 28g
B. lzofH;(2) I1. [60.2 = 10%3 electrons
C. [{moleof Ny (2) | IIL [Weighs 32 &
D. [0.3 mol of SO, (g) IV. |Occupies 11 4 L volume at STP

Choose the correct answer from the options given below:

Options :

71550513251, A-L B-1IL C-II, D-IV

71550513252, A-IL B-IV, C-I. D-III



71550513253, A-IL. B-IV. C-III. D-I

71550513254, A-IL. B-III, C-IV, D-I

Question Number : 61 Question Id : 7155054192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It 1 BT e gl 1 8 b
'\?I = I

AlcH, (9P 16¢ I |28s HR

B H, (9P lg IL. 60.2 x 102 STEEA
C. [N, (g) @ 1 HIT III. |32 g HIX

D. [S0, () ® 0.5 HId IV. [STP TR 11.4 L 3iaH
= feu v fo el o 9 9l 3w I
Options:

71550513251, A-L B-III, C-II, D-IV

71550513252, A-IL. B-IV, C-I, D-III

71550513253, A-IL. B-IV. C-III. D-I

71550513254, A-IL. B-III, C-IV, D-I

Question Number : 62 Question Id : 7155054193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct relationships between unit cell edge length 'a’ and radius of sphere 'r'
for face-centred and body-centred cubic structures respectively are:

Options :

71550513255, 2 N 2r = a and 4r =[3a

71550513256. 1" = Eﬁu and 4y = \Ea

71550513257. " = 2\/512! and \/Ej' =4q

21550513258, 2 N2F = a and \3r = 4a

Question Number : 62 Question Id : 7155054193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BA® bisd U410 U4 3d: Bi<d g-1d G131 & AU HHT: Uhd DINDI &
HR B TS ‘2 TG Td @1 FH3e0] v & 799 ol T+ o

Options:

71550513255, 2 N 2r = a and 4r =3a

71550513256. ' = Eﬁu and 4r = \Ea

71550513257, 1 = 2N2a and \3r = 4a

21550513258, 2 N2 = a and \3r = 4a

Question Number : 63 Question Id : 7155054194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ferric chloride is applied to stop bleeding because -
Options :

71550513259, FeCl; reacts with the constituents of blood which is a positively charged sol.

71550513260, Cl™ 1ons cause coagulation of blood.

71550513261 Fe'™ ions coagulate blood which is a negatively charged sol.

71550513262, Blood absorbs FeCl; and forms a complex.

Question Number : 63 Question Id : 7155054194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
G0 H1d A+ & (o BE FaRIgs & YA f&g1 9T g a4ifd:

Options :

11550513259, FeCls Xa Sl Ueh UFATRIG Hici 8, & 3fagai & 1Y fohdl Bl 5

71550513260, CI” 3T & & Whg- Bl o |

71550513261, Feo Xad, Sl Udh BUIATRI HId ©, P g HRdl o

71550513262, X9 FeCl; I AT B U Hgpal PI (A0 Bl

Question Number : 64 Question Id : 7155054195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of metallic character 18 =

Options :

71550513263. K = Ca > Be

71550513264, Be = Ca=K

71550513265. K=Be > Ca

71550513266. Ca = K > Be

Question Number : 64 Question Id : 7155054195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gl TH&TUT BT Aol ShH G

Options :
71550513263. K = Ca > Be
71550513264, Be = Ca=K

71550513265. K= Be > Ca

71550513266. Ca = K > Be

Question Number : 65 Question Id : 7155054196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gibbs energy vs T plot for the formation of oxides 1s given below.

Co,
—400 .

AGT of O,

(kJ fmol) —500 <

—GIH — ;

R0 4 :
0°C .

| | | | |
| | | | I

2007 4007 600% 2007 1000° 12007 1400~

T — %

For the given diagram, the correct statement 1s -
Options :

71550513267, At 600 °C, C can reduce FeO

71550513268, At 600 °C, C can reduce ZnO

71550513269, At 600 °C, CO can reduce ZnO

71550513270, At 600 °C, CO cannot reduce FeO

Question Number : 65 Question Id : 7155054196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiqEs & M1 §q [M1es 391l vs T &1 919 -4 fear T &:

(M} -

C+0, 4C0,

(Kt mol )

600 " jxt?

ey il | | | | |
1 T I I I |
oC 2007 4007 600° 2007 1000712007 14007
[ ——>
- feu T = g, Sl U ©:
Options :

71550513267, 600 'C G2, C FeO & AT B IFHdl %’

71550513268, 600 °C TR, C ZnO &1 AU T% TPl ©

21550513269, 600 °C O, CO ZnO ®! Ufid &R Udhdl &

21550513270, 600 C U, CO FeO &I 3UAYd B J&Hdl &

Question Number : 66 Question Id : 7155054197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : Physical properties of isotopes of hydrogen are different.
Reason R : Mass difference between isotopes of hydrogen 1s very large.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

71550513271, Both A and R are true and R is the correct explanation of A
71550513272, Both A and R are true but R 1s NOT the correct explanation of A

71550513273. A is true but R 1s false

71550513274. A 1s false but R 1s true

Question Number : 66 Question Id : 7155054197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 & By [GU T B, U I 3HHUT A Ud GIR &I DRUIR HE1 T |

HTUHYT A : TESIH D GH™HSDI & Hifdd o N gld g |
PRUIR : TG0 & GRS & GoodHl § 3R dgd 9P 3
U DYl & Y1 4, i fGu U fadedl & I 981 SR I:

Options:

71550513271, A Ud R &Il Hal & 0UT A Pl H5l IRATR T

71550513272, A U4 R &I 981 € AUl A &1 U8l URATR T8l &

71550513273, A WOl S W R 7T ©



71550513274, A TTO0 & R TEI ©

Question Number : 67 Question Id : 7155054198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of water molecules in washing soda and soda ash respectively are:
Options :

71550513275. 10 and 1
71550513276. 1 and 10
71550513277. 10 and 0

71550513278. 1 and 0

Question Number : 67 Question Id : 7155054198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
19 TIST Ud 1ST U= H 5d o U3 &1 T 5, o

Options :

71550513275, 10 Ta 1

71550513276, 1 Y4 10

71550513277, 10Td 0



71550513278, 1 T4 0

Question Number : 68 Question Id : 7155054199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 13
labelled as Reason R

Assertion A : The energy required to form Mg®™ from Mg is much higher than that
required to produce Mg~

Reason R : Mg?™ is small ion and carry more charge than Mg~
In the light of the above statements, choose the correct answer from the options
given below.

Options :

71550513279, Both A and R are true and R 1s the correct explanation of A

71550513280, Both A and R are true but R is NOT the correct explanation of A

71550513281. A 1s true but R 1s false

71550513282. A 1s falze but R 15 true

Question Number : 68 Question Id : 7155054199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



-9 &l YA [T U B, TP Bl DY A Ud gL &I HRUIR Hol T G|
GFF\W%F[A : Mg H Mg?™ &1 H TGS I, Mg~ &1 B qa-l H, BB
3{feeD B

PRUTR : Mg>™ BIET 3T & Ol Mg~ Y 4@ o 3aar |

YT D YbT H, i fGT T fadedl & § Iet IR I

Options :

21550513279, ATUG R G| UGl € dUT A P Uo! TRATR ©
71550513280, A UG R &I UGl © dUl A & Uo! ORATR Tol ©
71550513281, A ¥l 8 g R TTAA ©

71550513282, AT € TR el ©

Question Number : 69 Question Id : 7155054200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of the number of unpaired electrons in the given complexes is

A. [Fe (CN)s >
B. [Fe Fg]*
C.[CoFg]*

D. [Cr (u:r)-:.s?tiatr:)_;:|3 i
E. [Ni(CO),]

Choose the correct anzwer from the options given below:
Options:

71550513283. E=A<B=D=C

71550513284, A<E=D=C=B



71550513285. E<A<D<C<B

71550513286. A<E<=<C=<B <D

Question Number : 69 Question Id : 7155054200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T U Sl © SgRAd saaciFl &1 T30 &1 Hel $H o:

Cr (oxalate);]*
Ni (CO),]

- fau Y g el O 9§ 981 SR 9:
Options :

71550513283. E<A<B <D =C
71550513284. A<E=<D=C=B
71550513285. E<A<D=<C<=B

71550513286. A<E<C=B <D

Question Number : 70 Question Id : 7155054201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Complex Crystal Field splitting energy (Ag)
A [Ti (H,0)¢]* I 19
B. [V (H,0)]*" 1L |-0.6
C. [Mn (H,0),]*~ |mLfo
D. [[Fe (H,0)4]*" V. |-0.8

Choose the correct answer from the options given below:
Options :
71550513287 A-IV; B-1, C-11, D-III

71550513288, A-IL B-IV, C-I. D-III

71550513289, A-IV. B-I. C-III. D-II

71550513290, A-IL. B-IV. C-III. D-I

Question Number : 70 Question Id : 7155054201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 A g 1 9 &
L =
B fipeca &= Il (Ag)
A [Ti (H,0),* I 12
B. [V (H,0) " 1L |06
C. |[Mn (H,0)s*~ I1I. [o
D. [[Fe (H,0)4]*" v 0.8
i fdu e fa el § 9 98t SR I
Options :

71550513287, A-IV, B-I, C-II. D-III



71550513288, A-IL. B-IV. C-I. D-III
71550513289, A-IV. B-1. C-III. D-II

71550513290, A-IL. B-IV. C-III. D-I

Question Number : 71 Question Id : 7155054202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The delicate balance of CO, and O, 1s NOT disturbed by

Options :

71550513291, Burning of Coal

71550513292, Burning of petroleum

71550513293, Deforestation

71550513294, Respiration

Question Number : 71 Question Id : 7155054202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
CO, U4 0, BT Te]e Tqe THTad Tel gidl &-

Options :

71550513291, I Dl oA I




21550513292, GCHCTAH I Sfel- ¥

71550513293, @1 dl dIe I

71550513294, Y918

Question Number : 72 Question Id : 7155054203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Cartus tube, an organic compound X' 1s treated with sodium peroxide to form a
mineral acid 'Y".

The solution of BaCl, 1s added to "Y' to form a precipitate 'Z'. 'Z' 1s used for the

quantitative estimation of an extra element. 'X' could be
Options :

71550513295, A nucleotide

71550513296. Methionine

71550513297, Cytosine

71550513298, Chloroxylenol

Question Number : 72 Question Id : 7155054203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B AfeT § te Tee gifls X & 9ifsus WRiadss & Iy Iuaia
TR IR UD @S S 'Y W §idl 5 | 'Y W 8idl 81 'Y H BaCl, &1 fdaad
fHEM W UF 3989 7 F9d1 8| 'Z &1 I9GI HdRad dd & AATES ATHad
HEldarel X gl 9adl ¢

Options:

71550513295, U AGAHICISS
71550513296, HUTE3M
71550513297, T I&I

71550513298. FARTS E%l Ic

Question Number : 73 Question Id : 7155054204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decreasing order of hydride affinity for following carbocations is:

+
A CH=CH —T —CH,
CH,
-.+..
|
C-H
6™%5
+ i)

B.

C
CH

+ 3

D.[}_C_{‘j

A

Choose the correct answer from the options given below:

Options :

71550513299, C. A, B. D



71550513300. A: C.B. D
71550513301. A. C.D. B

71550513302. C. A. D. B

Question Number : 73 Question Id : 7155054204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
9 ®rdeATaH] & [T TISe5 s UBiHET &1 Uedl %4 o

==
CH,= CH —C —CH;
' |
CHy
_+_
CeHs —-:|j —CH,

A

B.
C.H
4 65
o H5C —-:i: — CH,4
CH,4
5
D,D—i—fi]
- fau Y fdsed O 9§ el SR 9:

Options :

71550513299, C. A, B. D
71550513300, &. C. B. D

71550513301. A. C.D. B



71550513302. C. A. D. B

Question Number : 74 Question Id : 7155054205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product 'P' formed in the given reaction 1s:

CH;0 Cl

anhy
:_: Ep!‘
AlCly (major)
Options :
CH;0
O,N |
CHj,
CH,

71550513303.

71550513304, 2N

CHy CH,
CH.O

SR
71550513305, CHy CH,

ocH,

CH0

71550513306, 2N CH,



Question Number : 74 Question Id : 7155054205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe T aif¥ferar & g Sarg P §:

CH;0
anhy
i'P*
MC]’-’. (major)
O,N
Options :
CH;0
0,N : ;
71550513303.
71550513304, V2N

CHy CHy
CH.O

PS¢
ol \r"w
71550513305, cH, i,
CH,0
71550513306, 02N CH,



Question Number : 75 Question Id : 7155054206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Incorrect method of preparation for alcohols from the following 1s:
Options :

71550513307, Hydroboration-oxidation of alkene.
71550513308, Reaction of Ketone with RMgBr followed by hydrolysis.
71550513309, Qzonolysis of alkene.

71550513310, Reaction of alkyl halide with aqueous NaOH.

Question Number : 75 Question Id : 7155054206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 & ¥ B Usplelal & 0 &1 e fafer g2

Options :

71550513307, TEPIT BT BIEGIARTH-SHFRIHRU]

21550513308, PIC @1 RMgBr & 1Y {1 AgURI-d oidf 3{0de-

71550513309, TebIH @1 STGIHITIRE

71550513310, Ul oallsS &1 Wil NaOH & 1Y ford



Question Number : 76 Question Id : 7155054207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order for acidity of the following hydroxyl compound 1s :

A. CH;0H
B. (CH;), COH

D. Me0 OH

E.O,N OH
Choose the correct answer from the options given below:

Options :

71550513311. E=C>=D>A>8B
71550513312. E=D>C>B=A
71550513313.D=E=C=>=A>B

71550513314. C=E>D>B >A

Question Number : 76 Question Id : 7155054207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



9 erssiaad dIfie! & A0 SAddl &1 96l H o
A. CH;OH
B. (CH;), COH

D. Me0 OH
E.O,N OH
A= feu e fow el o 9 gl 3w I
Options:

71550513311. E=C>=D>=A>B
71550513312. E=D>C>B>A
71550513313. D>E>=C>A>B

71550513314. C=E>D>B >A

Question Number : 77 Question Id : 7155054208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the reaction given below :

H,NC

(i) LiAlH,
R, N
5 (i) H;0
The product X' is :
Options :



OH

HEN)\HJY\

71550513315, OH
HjNW

71550513316, - OH
H,N

71550513317, OH

OH

1{1?\:/\/\/\

71550513318. -~ OH

Question Number : 77 Question Id : 7155054208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- gt g erfirfbar o
O
|
H,NC i
2 (i) LiAlH, _—
o (ii) H,0"
G_CEHH'X'%':
Options :
OH

HEN/I\(UY\

71550513315. OH



71550513316, - OH
H,N
71550513317. OH
OH
111}:/\/\/\
71550513318, - OH

Question Number : 78 Question Id : 7155054209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Buna-S can be represented as:
Options:

CeH;

CH,
= CHy=— CH = C—CH = CH —CH-
71550513319, : i%

C He

71550513320. _E[-"f —CH=CH—CH=C _F“:EI

CHs
Fietl

— CH = CH — CH = CH — CH —CH, +—

71550513321, - In

C e

T |
—~ CH,— CH = CH — CH;— CH — LEL}
71550513322, - ~ i "



Question Number : 78 Question Id : 7155054209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
&H1-S B Foiud oo o eahdl g:
Options :

(] 5

=|CH,=CH=C=(CH = CH =CH-
71550513319. ’ 3?

C.H.

£

—l:rll, — CH=CH— CH=C—CH,}+
71550513320. ’ “n

CHs
— CH = CH — CH = CH — CH —CH, ——

71550513321, - —n

o e GH =5 CH, — EHy e TH = mﬂ}—
71550513322, - = ' “n

€ Hs
rotls

Question Number : 79 Question Id : 7155054210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The reaction used for preparation of soap from fat is :
Options:

71550513323, an addition reaction

71550513324, alkaline hydrolysis reaction

71550513325. an oxidation reaction

71550513326. reduction reaction



Question Number : 79 Question Id : 7155054210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a9 & g o1 Ao sfifear e, v -

Options :

71550513323, UNT® AHfHTgdl

71550513324, &RIT STae(qa i

71550513325, 1G0T Hfiferar

71550513326, 999 T

Question Number : 80 Question Id : 7155054211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other iz labelled as
Reason R

Assertion A : 3.1300g of hvdrated oxalic acid dissolved in water to make 250.0 mL solution
will result 1n 0.1 M oxalic acid solution.

Reason R : Molar mass of hydrated oxalicacid 13 126 g mol !

In the light of the above statements, choose the correct answer from the options given below.
Options:

71550513327, Both A and R are true and R is the correct explanation of A

71550513328, Both A and R are true but R 13 NOT the correct explanation of A



71550513329. A is true but R 15 false

71550513330. A 1= falze but R 1s true

Question Number : 80 Question Id : 7155054211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-d &l HYF UL 8, U & STy A U4 GER &I HRUIR R TRIT 2|

HTUBYT A - 3.1500¢ BT 9CS (STd Tiford) HFHD = & ofd H Ui 250.0 mL
g 0.1 M i 3 f&erg= W ganl|

FRUIR : E5ocs HGAD T BT AT G609 126 g mol ! B
Suded syl & dg I, i fau e fasedi I 9 el 3w 9T

Options :

71550513327, AUG R GHl Jel € d4T A Sl Ual AT R &

71550513328, AUG R GFI U5 § 04T A B Ug| ARATR I8l §

71550513329, A HE1 8 I R0 &

71550513330, A7T0A &8 IR eI ©
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Question Number : 81 Question Id : 7155054212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
n+l

147x10"7) I\

n

The electron in the n orbit of Li®™ is excited o (n + 1) orbit using the radiation of energy 1.47 x 10777 (as
shown in the diagram). The value of n is

Given: Ryr=2.18 x 10718

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 81 Question Id : 7155054212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
n+1

1.47%107) /N

N n

Li2™ & o't H&T T SURYT STdeH Bl 1.47 x 10717 1 Il arelt fafds=ur & S
T (n+ 1) Te § Sford [ar ora1 g (o o H iG@m T )  n ST A §

[GaT T 8: Ry =2.18 x 107187
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054213 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of molecules from the following which contain only two lone pair of
electrons is

H,0,N,,CO,XeF,;.NH;.NO, CO,.F,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054213 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o & @ 37 arvpai 1 e o gdael & o <l Uhe! O SUTRId

H,0,N,,CO,XcF, ,NH;,NO, €O, , F,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054214 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of endothermic process/es from the following 1s

AL (2)— 2 ()

B.HCl (g) — H(g) + Cl(g)

C. H,0(1) — H,0(g)

D. C(s) + Oz (g) — CO; (g)

E. Dissolution of ammonium chloride in water

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 83 Question Id : 7155054214 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 & & gt gishanal o1 e 6:

AL(zy—2(g

B.HCl (g) — H(g) + Cl(g)

C. H,O(l) — H,0(g)

D.C(s) + 05 (g) — CO5 (g)

E. 3HIFTH FiRSS &1 od H Y-l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An aqueous solution of volume 300 cm” contains 0.63 g of protein. The osmotic

pressure of the solution at 300 K 1z 1.29 mbar. The molar mass of the protein 1s

g mol™!

Given: R = 0.083 L bar K™! mol!
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 84 Question Id : 7155054215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STl 3T & 300 em® AT H 0.63 ¢ WIeH IURYd 81 300 K W faaga &1
TRTERUT &1 1.29 mbar § | WIEH &1 HITR ZoddM ¢ mol~! B

fSaT T §: R = 0.083 L bar K- mol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ag)=128(g)+C(g)

For the given reaction, 1f the initial pressure 15 450 mm Hg and the pressure at time t 1s 720 mm Hg at a
constant temperature T and constant volume V. The fraction of A(g) decomposed under these conditions

is x % 1071, The value of x is (nearest integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 85 Question Id : 7155054216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A(g)=2B(g)+C(g)

few 7w if¥ferar & foe, afd YRS 31§ 450 mm He € 99T 994 t IR QR
T T Ud fRR Shdd v IR &1d 720 mm He 81 U4 aRnsii ¥ faufed
Alg) PT3RMx x 1071 I x BIAAT (ecan qurie o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054217 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

The specific conductance of 0.0025 M acetic acidis 5 x 107 S cm™ at a certain

temperature. The dissociation constant of acetic acid 1s x 1077,
(Nearest integer)

Consider limiting molar conductivity of CH;COOH as 400 S em? mol™!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054217 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U4 3T U a9 99 0.0025 M e ond &t Iraddr 5 < 107 S em™L B

vdife® o o1 fagioH RS « 107, (Fevead quife o)

CH;COOH &1 HITid HIe) A dl &1 400 S em? mol™! O

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054218 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of incorrect statement/s from the following is

A. The successive half lives of zero order reactions decreases with time.

B. A substance appearing as reactant in the chemical equation may not affect the
rate of reaction

C. Order and molecularity of a chemical reaction can be a fractional number

D. The rate constant units of zero and second order reaction are mol L™ 57! and

mol™ L s7! respectively
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The difference in the oxidation state of Xe between the oxidised product of Xe
formed on complete hydrolysis of XeF, and XeF 15
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For a metal ion, the calculated magnetic moment is 4.90 BM. This metal ion has
number of unpaired electrons.
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In alkaline medium, the reduction of permanganate anion involves a gain of
electrons.
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